Addition by counting
forward

Let's add five and three. Count three
203. oo .07 8 | numbers after five. 6, 7, 8. Total beads
4 6 are 8. So the sum is 8.

Now, let's find the sum of eight ®
and five. For it, count five ... ®
beads after 8 beads. 9, 10, 11, %00 o 0%
12, 13. So total beads are 13. 8 9

While adding two numbers, count forward the numbers equal to
the second number after the first number. Addition will be easy if
we take bigger number and then count forward the smaller
number. While adding 4 + 9 counting four numbers after 9 is
easier than counting nine numbers after 4.

Let's practise Addition.
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